Engineering Economy


                                      NAME ___________________

Quiz #5    Date: April 14, 2005   SHOW WORKING

1) An investor decides to invest 80% of their assets in a stock with an expected mean return of 10% and a standard deviation (risk) of 18. The remaining 20% is invested in a stock with an expected mean return of 8% and a standard deviation (risk) of 7. Calculate the expected return and the standard deviation (risk) of the combined portfolio for two scenarios: (3 points)

a) The returns are independent of each other 
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b) The correlation coefficient of the return of these two stocks is 0.30.
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2)   A slot machine in the Suckers Choice Casino accepts dollars. The payouts and probabilities are as follows


	Payout
	$5,000
	$20
	$10
	$5

	Probability of Winning
	1/64,000
	1/256
	1/100
	1/16



    If the machine is in use 11 hours each day, 365 days each year and the users operate the machine on average every 3 seconds, what is the expected profit per year to the casino operators from the machine? (2 points)
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3)  (2 points)

a) What does the bond symbol ATT 8s07 mean?

The coupon of AT&T bond is 8%, it will mature in year 2007.

b) For an individual tax return using Form 1040 and associated schedules, on what form are the following placed

i) Depreciation for rental real estate activities. -- Schedule E

ii) State Income Taxes payment.  -- Schedule A.

4) Sally has one night left to study for an exam, she may choose to either study by her shelf or with a group of friends from her class. She knows from previous experience that when she studies by her self she will get a B on the exam. If she chooses to study with friends she may benefit from the shared knowledge or be distracted by having friends around. When studying with friends her probability of getting an A to 40%, a B 30% and a C 30%. Assume the value of an A is 4.0, a B is 3.0 and a C is 2.0. Draw a decision tree, calculate the EMV for each outcome and solve the decision tree to answer the question: Should Sally Study alone or with friends? (3 points)

Decision Tree

        For studying with friends, 
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       For studying alone, 
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, Sally should study with friends. 
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